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The figures in the margin indicate
- Jull marks for the questions.

- Answer either in English or in Assamese. -
1. Answer the followmg T 1x8=8

(a) Dlstlngulsh between primary data and
secondary data
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(b) Give an example. of a study where :
complete enumeration cannot be
- undertaken,
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Defme coefﬁment of Vanatlon
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Flshers index number is a Welghted
index number (Write true or faISe)
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T - (b1 ¢ fst fersn)

What measure of central tendency s

used to calculate: ‘the HDI?

. HDI ﬁwwﬁﬂﬁ?@@ﬂmm
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| faat1 | |
(h) What constitutes the pnmary sector of
.. . an economy ?

faﬂaw@ﬁﬁm%ﬂﬁﬁ@ﬂﬁ@m?

.. system particl

g Deﬁne econorrnc growth Of COUntry
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Give an exarrlPle of an in formal financial
pant
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2. Answer any six '-ffo'm the following

questlons 2x6=12
OoR eI BT e w ot 2 |
' (@) Distinguish between a parameter and
a statlstlc ' .

ST S mwm@MI

(b) How is the ‘median calculated for a-
continuous series ?

ﬂﬁ@ﬁﬁiﬁ@ﬁﬁﬂﬂﬁfﬁsmﬁmwiﬂ?

(¢ Why is index numbers said to be
économic barometer ?

o WWW@WW@?@W?@?@ ol T
(d). Define the  term ‘sustainable
 development’ as under the Brundtland
Report. . .
- Brundtland Report’ @ ﬂfﬁﬁ@?@m%ﬂm |
&IWW AR ﬁim o

(e) Mention two dements of per capita .
"~ income as a tool of measuring )

"‘development of a country.
QI O ey oI fis‘lm wsg% w :
g o Bt

() What were the three basic 1nd1cators of '
human development before 2010 ?

2010 T~ I SR Y P o0 R
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What is a ﬁnanmal system ?
Ry Il B2 -

State the components of a ﬁnan01al

RS TR SRR %cm ST
Deﬁne GDP. ' '
GDP-S gea) ﬁm |

Differentiate between labour force

participation rates and workforce
partlclpatzon rates. -

Wwﬁmﬁ@mmwﬁw\%ﬁw
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Answer any four from the following : .
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(a) State one advantage and one limitation

. S5x4=20

of the arithmetiC mean as a measure
of central tendency.

A contractor }Cmploys three types of
workers—skilled, semi-skilled and
unskilled. To a skilled worker, he pays
Rs. 500 per day, to a semi-skilled

~worker ‘Rs. 400 per day and to an
unskilled worker Rs. 300 per day. On -

a typical day, if the contractor employs

15 skilled, 20 Semi- skilled and. 10-
. unskilled workers, find out the average

daily wage pald by the contractor.
2+3 S
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(b)

Discuss the steps of COIlStI'LICthI’l of -
consumer price index nuniber.
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- State two hmltatlons of pr1ce 1ndex ,

number.

Calculate prlce mdex number for 2020
from the following data: . 2+3=5

TR T IRA gﬁv‘ﬁﬂﬁwmlwsﬂﬁ"

*_1 20203 vy A5 TR A 1 3

Commodltles - Price/w

A ‘ " Rs. per unit/5a #feCore
: 2010 . 2020,
A 10 15
B ©20 .25 .
C 50 60

D 40 50
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(d) What are the core values of economlc

developrnent ?

- vmﬁmfﬁﬁimﬂwaaﬂlqﬁmmaﬁ$9

. (e) Briefly dlSCUSS - the essentlal .

R -components of human development.

.ﬂﬂmaizmmaemﬂwﬁﬁﬂamﬁmméﬁir$aﬁﬁﬁasn'

Kijk Discuss the role of Purchasmg Power

 Parity (PPP) in international finance.

oo g S e TSl (PPP)-
3 g R L

(g How do_banks make profits ? Discuss. -

R AT S Gofieia IR 3

(h) What are the causes responsible for . .-

' the unfavourable sex ratio in India?

E#$§¢$3vmﬁﬁiﬁﬁﬁvﬁyﬁsaawvmméf$ﬁ$?
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4. Answer any two from the f0110W1ng4
questions : ’ 10x2—20

O PRI SRl ﬁkawzviﬁwﬁy@aﬁ#ﬂ

‘(a) Discuss the steps in a sample survey.
Elaborate on the. stratified random
sampllng method usmg sultable’
éxample.

: WWWWam@WWW '
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(b)) What are the different ‘measures of
dlspers1on ? : 2+8= 10

Calculate standard dev1at10n from the
'.followmg date 3

ﬁwﬁWQﬁﬁsﬂsmmmaﬁ$ﬁ$?@ﬁﬁ\wma<*n:

SWWﬁH5ﬁ$EW'W$naRI°
Proﬁt(Rs Lakhs) 0-10 10~20 20- 3o 30240 40-50 50-60°
?‘H'(WN W‘) .
No. of Companies 12 17 23 A 39. 16 03
@Wﬁﬁmw ' o '

( Explain how Human Developmentl
Index is. measured in India.
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- (d) Discuss the functions of a financial
system. : '

WWWWWI

(e) Discuss the main features of the Indlan
' " economy that indicate the low state of
R development in the country despite the
impressive growth rates especially in

the last decade :
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